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Quiz 2a

Answer all questions and make your presentation clear and clean. Each question carries 10
marks.

1. Let D be the region in the first quadrant bounded by zy = 1,zy = 16,y = 4z,y = 9.
Evaluate
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2. Evaluate the line integral
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3. Find the circulation and flux of the vector field
F = zi + zyj
around and across the unit circle 22 + y? = 1 in anticlockwise way.
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Quiz 2b

Answer all questions and make your presentation clear and clean. Each question carries 10
marks.

1. Evaluate the integral
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2. Find the mass of the wire described by x = 3cost,y = 3sint, z = 4¢,t € [0, n], with density

0=2% . _
o = (3 sk, 34<%, 4€)
‘f—l(t;) = (-3 Wat, 2L, L)

IRol=33+16 =der= &5

= gTrauyw 5 k= 2o T.
<0

3. Find the work done of the vector field —yi+ zj in moving a particle clockwise once around
the unit circle in the zy-plane.
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